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" 1. Let’s us find this time :
z= 49m
V=gt

2. Let’s us find the speed
V=gt
V=933 16=F=3096~31m/s
% =31m/s
2.4
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4. AB=186m
' V=26.5m/s

a=1.5m/s’

V:,—V?=2aAB

_ N
Ka =N 2048V

V, =y2X1.5X186 +(26.5)’
V,=355m/s
4.4
"4
5. Let’s find thetime t:
Vy,=V,=aM
_ VB 7V’A
B a
355-26.5
15
Al =65 _

At

At

6. The average speed over AB
Vo
no 3 ’ S ' g T

3551265

=31lm/s

V. =\2axAC+V

V. =2X93X1.5+(26.5)
V.=313m/s
T—4

£
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: 'I/Iim - 70.’71}7/?_

Fim = L =112.54km/h
0.622
112.54
fim = M =31.26m/s
3600
B at point'C

9. 9-B
10.

Quéstion 11 to 13

11.y =17.14sin(048x~1.75)+7.11
y_ =17.14x+741=24.25

v =—17.14x1+7.112-10.03

2425+ IO.Q) _17.14°

Ampli = max ~ Vi ;"v‘“i“ = Ampli'=
11-D
1.2 12-A

13. y =17.4sin(0.48x8 ~1.75) + 7.11 = 22°
13-C

- 14.6=98N/ke
V.=15m/s

Vf =35m/ls

. V.
- 7Vf2—Vf:2gh:>h:f2—

35°-15°

="
19.6

14-B

= h=51m

15. 4=17m"
cost=21.500FCFA4

sLet find the number of can




can =2.75m’ www.tousl esconcours.info
nCar = 17 6.18 = 7can
2.75
total.cost =T7x21500 = 150.500 fcfa
15— 4

50000

16.50km/ h = 5 =13.88m/s113.9m/s

~

o

16-C

17.Thinking distance=9.7m V=13.9m

z
TDsztpt:—VB

18.Breaking distance=14.7m V=13.9m/s ' : _ !
- 1=1.05+0.7=1.75018s
18—C

19.7," -V =2ad ¥, =0

i
-V —(13.9)
“T2d " 2xia7
19-D" .
20.7,*~¥* =2ad v, =0

=-6.6m/ s’

_p2
Y,

a

_—(30.56)
23(~6.6)
dfom! =d+ d!hr'm'cing =70.75+2 1.4= 923m

20-B

=70.75m

Z1.Let Un the new price atn years Uo=25000000
U, =8%U, +U, = (8%+ 1)U,
U, =8%U, +U, = (8%+1)U,

te
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= =8%+1U, , |
U, =(8%+1)"U,
U, = (1.08)° x25000000
U, =36.733.000FcFA 21-B
22.V =25ml's

d=11.9m

d=v‘t:>t=£=£—0.4765
v 25

t=0.476s 22— A
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